AL Chemistry (F.6) ---- Practical Section

Lab Quiz on Experiment 8
Time Allowed : 10 minutes

Name : ________________
Class: 6S (    )

Date : _____________

1.
Write the complete balanced chemical equation for the reaction between Iron(II) sulphate and acidified potassium permanganate. (Ionic equation will not be accepted.)


________________________________________________________________________________________

2.
State the color change at the end point of this titration.


________________________________________________________________________________________

3.
Miss Ho prepared the iron(II) sulphate solution by dissolving 12.50g hydrated crystal (FeSO4(7H2O) in 3 dm3 
deionized water.  20.0 cm3 of standard potassium permanganate solution is required to titrate with 25 cm3 
of  this iron(II) sulphate solution. What is the mass of potassium permanganate solid required to prepare 
250 cm3 of that standard potassium permanganate solution?  [Hint: Molar ratio of FeSO4 : KMnO4 = 5:1]


(Molar Mass: FeSO4(7H2O = 277.9 g mol-1, KMnO4 = 157.8 g mol-1)
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